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Fo1 Fo2 F11  F12 F01/F02 F11/F12  FO1/FO2*F11/F12
-40.224 70.208 41.516 57.325 -0.5729 0.7242  ans=-0,4149
-40.224 70.208 1.707  §7.325 -0.5729 0.0298  ans=-0.0171
-40.224 70.208 -32.809 57.325 -0.5729 -0.6944 ans=0.3379
4z.224 70.208 -39.516 §7.325 0.6014 -0.6893 ans=-0.4146
42.224 70.208 0.293  §7.325 0.6014 0.0051  ans=0.0031
42.224 70.208 -39.808 57.325 0.6014 -0.6944 ans=-0.4176
-38.809 70.208 41.516 §7.325 -0.5528 0.7242  ans=-0.4003 (0, 90, 44)
-38.809 70.208 0.293 §7.325 -0.5528 0.0051  ans=-0.002%
-38.809 70.208 -41.224 57.325 -0.5528 -0.7191 ans=0.3975
40.§09 70.208 -39.516 57.325 0.5813 -0.6893 ans=-0.4007
40.§08 70.208 1.707  57.325 0.5813 0.0298  ans=0.0173
40.809 70.208 -41.224 §7.325 0.5813 -0.7191 ans=-0.418
-0.415 -0.017 0.398 -0.415 0.0030 -0.418 -0.4  -0.0030 0.398 -0.401 0.017 -0.418
0.293 2.121 1.0 1.732  0.1381 0.5774  ans=0.0797
0.293 2.121 1.707 1.732  0.1381 0.9856  ans=0.1361
0.293 2.121 0.707 1,732 0.1381 0.4082  ans=0.0564
1.707  2.121 1.0 1.732  0.8047 0.5774  ans=0.4646
1.707 2.121 0.293 1.732 0.8047 0.1691 ans=0.1361
1.707 2.121 0.707 1.732 0.8047 0.4082  ans=0.3285 (0, 90, 45)
1.707 2.1zl 1.0 1.732  0.8047 0.5774  ans=0.4646
1.707  2.121 0.293 1.732 0.8047 0.1691  ans=0.1361
1.707 2.121 -0.707 1.732 0.8047 -0.4082 ans=-0.3285
0.293 2.121 1.0 1.732  0.1381 0.5774  ans=0.0797
0.293 2.121 1,707 1.732 0.1381 0.9856 ans=0.1361
0.293 2.121 -0.707 1.732 0.1381 -0.4082 ans=-0.0564
0.08  0.13 0.056 0.485 0.136 0.329 0.465 0.136 -0.329 0.08  0.136 -0.056
1.007 1.733 -0.975 1.415 0.56813 -0.6893 ans=-0.4007
1.007 1.733 0.042 1.415 0.5813 0.0298  ans=0.0173
1.007 1.733 1.017 1.415 0.5813 0.7181  ans=0.418
-0.958 1.733 1.025 1.415 -0.5528 0.7242  ans=-0.4003
-0.958 1.733 0.0070 1.415 -0.5528 0.0051  ans=-0.0028
-0.958 1.733 1.017 1.415 -0.5528 0.7191  ans=-0.3975 (0, 90, 46)
1.042 1.733 -0.975 1.415 0.6014 -0.6893 ans=-0.4145
1.04z 1.733 0.0070 1.415 0.6014 0.0051 ans=0.0031
1.04z  1.733 0.983 1.415 0.6014 0.6944 ans=0.4176
-0.993 1.733 1.025 1.415 -0.5729 0.7242  ans=-0.4149
-0.993 1.733 0.042 1.415 -0.5729 0.0298  ans=-0.0171
-0.993 1.733 0.983 1.415 -0.5729 0.6944  ans=-0.3979
-0.401 0.017 0.418 -0.4  -0.0030 -0.338 -0.415 0.0030 0.418 -0.415 -0.017 -0.398
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